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Quant Mega Quiz for SSC CHSL (Solutions)

S1. Ans.(a)

Sol.

+10% - 5% — 1000 Rs.
5% — 1000 RBs.

194 — 200 Rs.

10094 — 20,000 Rs.

S2. Ans.(b)

Sol.

Using short cut
12

Loss 94 = (E)

=(2.5)%

= 6.2504

C.P = 240 X ﬁ: 256

P =240
Loss = Rs. 16

S3. Ans.(d)
Sol.

e
Shortcut = [L—;)
= 6.25%

1
= 6;9"&

S4. Ans.(a)
Sol.

C.P x —— = 480
100
C.P =600
S.P that he want to sell = 600 = %
=720 Rs.

ALL EXAM

+506 - (-5%) = Rs. 5 BANK | SSC | TEACHING & OTHERS
10% =Rs. 5

104 ==

1009% = Rs. 50 TEST PACK
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S6. Ans.(c)
Sol.
CP x -~ =105
100
10500

C.P =
91

10500 » 130
91 100

5P =
=150 Rs.

S7.Ans.(a)
Sol.

Let C.P — 100
C.P S.P

100 90

100 1125
22.5—Rs.9
9

_’ _—
22.5
9
100r - —— x 100
22.5

1r

9
=——x 1000
225

=40 Rs.

S8. Ans.(d)
Sol.

504 = Rs. 50
19 = Rs. 10
100% = Rs. 1000

S9. Ans.(c)

Sol.

Single discount=-20- 10+ 2
=-28%

S.P =500 x —
100
= 360 Rs.

S10. Ans.(d)
Sol.
P=10-10-1
=-1%

= loss = 1%
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S11. Ans.(b)
Sol.
In right A ABC,

Now,
In A ABC,

cos45°=%zﬁﬁl£‘=ﬁx 25

o AC = 25v2m ..........(ii)

-~ length of pole = AB + AC [+ AC = AE]
= 2542542

=25(1+v2)m

S12. Ans.(a)
Sol. In right AABC,

N .
R 4043 m C

60"

A

& 403 m

E

AF

= 3 =W
AR

~AB =40

In right A ADE,

tan45° = 2£
AD

am'a

=1=—
AD

»AD =403 m
». distance travelled by bird = AB + AD = 40(1++/3) =109.2 m

distance

e TEST PACK

=——m/s =3.276 km/hr

120

tan 60° = :
an 12 Months Subscription
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S$13. Ans.(c)
Sol.
Given:#8; + 8, = 90°

A

0; L

Sz <D C

27
h=27tan8, ..(i)
h=12tan @,
h = 12tan(90 — 8,)
h=12cotl; ...(ii)
From (i} and (ii) h = 18 ft

S14. Ans.(a)
Sol. In right AABC,
A

10m

L -
B C
tan 60 = 48

BC

BC

~BC=21m
V3

Distance between foot of ladder to wall = % m

S15. Ans.(b)
Sol. Distance covered, CD

=h (cot#; — cot 8;)
= 200(cot 30° — cot 60°)

- 200(3-2)

3-1
= 200(32)
_ 2x200
Y
_ 400 V3 _ 400V3
~B BT s ™
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S16. Ans.(d)

Sol.
In right A BDC,
A
D
30°
B 30°
100 m C
tan 30° = 80
BC
1 BD
= — =
V3 100
BD = -2

V3
. ZAB
From question, 5 = BD
100

= AB =3 X —
23
150 3
= —>MX—=
V3 V3

S17. Ans.(b)

Sol.

Let height of tower be h m

Distance travelled by Rana when angle of elevation changes from 30° to 45°

= (V3 - 1)h
And remaining distance to be covered to reach to tower = h

: . 10 _ .
So, time required = T = 5(\.@ + l)mm

S18. Ans.(d)
Sol.

Let the height of mountain = x km Ssc c H S L

TIER-I

Memory Based Package
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In right A ABC,

tan 45° = 22
BC

X
1=
B

~BC=xkm
In right A FDC,

. FD
5in 30° = —
FC

1__FD

2 1

~ FD=0.5km

~DC=+/(FC)?
= % km
In right A AEF,

= =\3=
\r“_(x——)—( —0.5)

_ (v3+1)

— {FD]E

tan 60° = C=—0. 50}

km

$19. Ans.(c)
Sol.

Let the height of first aeroplane to second aeroplane is x metre.

In right A DBC,

tan45° = —
BC

1 = 3000
BC
- BC=3000m

In right A ABC,

tan 6{}'3' = m
BC

_ x+3000
V3 = BC

__ x+3000
=13 = 3000
= x + 3000 = 3000+/3
= x = 300043 — 3000

~x=3000(v3—-1)m

=7 -

(0.50)2
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S20. Ans.(c)

12 Months Subscription
Sol.

In right A ABC,
A D
ﬂ]"
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AR
tan 60° = ac

3 = 890

a00
= BC =—.§

S21. Ans.(c)
Sol.

Volume of cube = 343 cm?
a’ =343
a=7cm

Diameter of the base of cone = side of the cube
D=7cm
r=7/2cm
Height of cone = side of cube = 7 cm
1 =2

Volume of cone = ;.ITI‘ h

1 y 22 " 49 6.
3777 4
=89.83 cm°®

~ g0 cm?

S22. Ans.(a)
Sol.

Total surface area of Remaining solid

= Total surface area of cylinder + Curved surface area of cone
= 2nrh + ir? + mrl
=2xmx8x15+mx(8)*+mx8x+225+ 64
=240m+64m+mx8x 17

=240m+64m+136m

=440
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S23. Ans.(d)
Sol.
Area of circular shell

= ((12)° - (8)?)

=T (144 - 64)

=80m

Total surface area of cylinder
= 2mR,h + 2mR,*

= 21R, (h+R,)

ATQ,

80m=2nR, (h+R,)

S24. Ans.(d)

Sol. Radius : Height =4:3
Radius — 4x

Height — 3x

Total Surface area of cylinder
= 2mrh + 2mr?

= 270 x 4% (3x + 4%)
=2mM*x4x x 7X

= 56T x*

Total surface area of cone
=1irl + mr®

=mr(l+r)

=10 x 4% (v 16x% + 9x% + 4x)
=T % 4% (5X + 4x)

=36 mx"

Ratio = 56mx* : 36Tx"
=14:9

S25. Ans.(d)

Sol. Volume of spherical ball = Volume of water in cylindrical vessel upto height 6.75 cm

4
Eﬂrrg =m(12)? X 6.75

4
— %13 =144 X 6.75

3
r*=36x3x675
r*=729
r=9cm

8 | www.bankersadda.com

www.sscadda.com

www.careerpower.in

www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

S26. Ans.(b)

Sol.
l:b=2:1
2x% = 24200

Diagonal = /(110)2 + (220)2 = 11012 + 22
=110 x+/5 = 110 x 2.236
=246 m

S27. Ans.(a)
Sol.

Using Pythagoras theorem -
x? = (60)2 + (11)2
X=61lm

60

11

$28. Ans.(c)
Sol.

ATQ,
40

1
Angle=—="-
3a0 9
360—40 g
So, = -
360 9

Area of major sector = 8 x 8.25 = 66 cm?

S29. Ans.(b)
Sol.

ATQ-

2T X R X 75 = 25
360
60

118

R

S30. Ans.(d)
Sol.
ATQ,

211:r=4.4=:-r=1m
10

mr? = 0.49 mm?
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